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Instructions : All questions are compulsory.

(i) T HHE 1 9 20 T F TS Y9 W 1 3 Fyifg &) s =) sfusan
TR 2095 ¥ |
Question Nos. 1 to 20, each question carries 1 mark. Maximum word-

limit of answer is 20 words.
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(i) TEFHE 21 ¥ 23 TF & TS 99 W 2 37w Fvifta § 1 s 1 sifieram

()

(v)

(vi)

- € 30 TR B |
Question Nos. 21 to 23, each question carries 2 marks. Maximum

word-limit of answer is 30 words.

T HHIF 24 Q 27 T F TS IHE W 4 3% Fraffta § 1 3w+ afvesem
TR-H 75 U ¥
Question Nos. 24 to 27, each question carries 4 marks. Maximum

word-limit of answer is 75 words.

W A 28 ¥ 31 99 F TlE T W 5 3w Fruifta € 1 3wt sifuman
vee-Har 150 U= ¥, T o wed e 9 faw W oemafia R

Question Nos. 28 to 31, each question carries 5 marks. Maximum
word-limit of answer is /50 words, in which one question is based on

Map and Picture.

W O 32 9 34 0% F T8 WH W 6 37w Fraffia € | St sifuman
- 200 =K & |
Question Nos. 32 to 34, each question carries 6 marks. Maximum

word-limit of answer is 200 words.

(vii) W Wi 28 W 34 o Wit W § vl fawen fag mu €

Question Nos. 28 to 34 have internal options.
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Afqergzwiiy g -1 [1x20=20]

Very short answer type questions-I

WH-1  ¥ia g5 9 o9 T gnge ¥ 2 [1]
What do you understand by Cold War?

WA-2 R qe 9RE gera: R 3w @ et €7 [1]
Mainly to which country NATO and Warsaw are related?

UH-3 QA FA W2 (1]
Who was Lenin?

UT-4  afc %! R Fd A6 T8 ot ? [1]
When was Wall of Berlin manufactured?

UeR-5 TSEwm A A R [1]
What is the meaning of Supremacy?

WeA-6  SifoeeH UEgfor Wen sifvar fRe 2w Y wemn ? [1]
Which country launched Operation Enduring Freedom Campaign?

WT-7 TR I A A I ARG WSRO e 4 ? [1]
For which question China attacked on India?

-8 famga w9 faf@e—wa a8 (L.T.T.E) [1]
Write the full form of L.T.T.E.
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u¥-10

-1

U¥i-12

u¥i-13

UF-14

u¥i-15

W¥-16

[4]
8T (SAARC) F & wew <9 % AW fafaw|

Write the names of two member countries of SAARC.

Jgar fFd wEa € 2

What do you understand by Immigrant?

WRA H WYH TRATY IO el G371 ?

When was first atomic test done in India?

IR A F491 aed &2

What do you understand by Liberalization?

Y| 3 gAE | e 91 fauy w@i HA-dt o ?

Which was the biggest opposition party in first general election?

et fererrar & s e & 2

What do you understand by planned development?
I FAS ' FEHA FE ?

What is ‘Operation Flood’ Programme?

W TR e w42

Who was Ram Manohar Lohia?

[1]

[1]

[1]

[1]

[1]
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wei-17 e geeh’ fhwe Am ar? [1]
Whose slogan was ‘Garibi Hatao’?

W-18  Wiqag e FwRn sl & 2 [1]
What is meant by Committed Bureaucracy?

UPA-19  TSEYA TR U I T AN §? [1]
What do you understand by Alliance Government?

U¥T-20 UL QU AW fafEw) [1]
Write the full name of B.S.P.

ARSI T9=-11 [2x3=6]

Very short answer type questions-II

WeT-21 € 9§ A9 F gEa €2 [2]
What do you understand by ‘SAARC’?

U9T-22  Y-HUSHIHIT % I¢T F & wR fafEn | [1+1=2]
Give two reasons of rise of Globalization.

UyA-23 e fane fg sa? [2]
What was vasectomy preventive detention?
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TR TH [4x4=16]

Short answer type questions

qyA-24  ¥ia YF % SR (y9E) w fafae (FE 990 | [4]

Write the results of Cold War (any four).

wyR-25  WifeEd yonel w1 9q@ faemad fafae (FE w0 | [4]

Write the main specialities of Soviet System (any four).

Y9T-26 ST GIEIYT i T S o U faf@n (3 =) | [4]

Write the measures to make consumer protection effective

(any four).
W-27 HAQH % Seeid qd% %1 90 HifeT (FE TR7) | [4]

Describe the changing methods of voting (any four).

HEESARR LS| [5x4=20]

Long answer type questions

YyA-28 T aifH 0 ¥ 2 el aitHn o guvE fafae (FE 90 | [1+4=5]

What is Global Warming? Write its bad effects (any four).
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q¥T-29

¥ -30

[7]

arerEr

OR
wafeRol YT 1 € ? TR WA R fafEy (FE |/w) |
What is environmental pollution? Write its main reasons (any four).

T g9 % ol & fawqa &9 ¥ SRR [5]

Explain the organs of European Union in detail.

arerdr

OR

STHAT & 73T & WY ITF 3941 & fafEu

Write the formation and objectives of ASEAN.

I ¥ Fasrer % R ffEe (% uie) | [5]

Write the reasons of Partition of India (any five).

arerar
OR
A & fasiem & ftomm fafae (€ oie) |

Write the results of Partition of India (any five).
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[8]
weT-31  f&u e gAfes § fFrefatea at w5 oo @ gtz

(87) o

() afaerg

(F) 3/H

(7)) SWWRW

(5) s

In the given map show the capital of the following states :
(a) Gujarat

() Tamilnadu

(¢) Assam

(d) Uttar Pradesh

(e) Chhattisgarh

arerqr

OR

At # TE gC 9t T AW Yg=fN—A, B, C, D, E 9O S
Tt M IW-Yfe § fafau

Identify the five states A, B, C, D, E shown in the map and write

their correct names in answer book.

(3]
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[10]
sifdrezTig ue [6%x3=18]

Very long answer type questions

wg-32  frefafas w feofort fafay : [3+3=6]
(37) ke FHET
(=) formen qwEin
Write notes on the following :
(@) Tashkent Agreement

() Shimla Agreement

srerar

OR

RA Hd 1 Tt 1 Tmefeh @ & aere[g WA SR s & 94
T HH-8 I T W ? W Fie (IR 37) | [1x6=6]
In spite of being supporter of disarmament, India always give which

arguments in favour of making atomic weapons? Explain (any six).

99-33  fava wifd & fog wRa 1 wewqul A 99 @11 ST AR o aleh]
! GHEEY (FE 37) | [1x6=6]
India has always given important contribution for world peace.

Explain the methods of these contribution (any six).

NM-36 A+



Uei-34

[11]

qar
OR

T g 99§ R &1 61 a9 Aravaswar B W Hifeg [3+3=6]
Explain the demands and necessities of improvement in United

Nations Organisation.

farE 71 ¥ ? &9aR % wRw fafEw [1+5=6]

What is Regionalism? Write the reasons of regionalism.

rorar
OR
T ¥ AiEds F FOEAR [HY YR ¥ ywifaa e ¥ 2 frar §
HHERT | io]

How does Isolationism effect today’s Democracy? Explain in detail.
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